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MARKS

QUESTION

1 Fill in the blanks: Risks can never
be , but they can
be reduced to an

level.

1 Periodically Project Risk Review
team meetings ensure which of
the following:

1 When are risks plotted into a Hits
vs Distribution intervals curve?

1 Which of the following is true
about the flow of project
management while designing the
packaging of an aerated drinks?

1 People who can make your
project fail will

1 Change management in "Project
Charter" is all about?

1 Which of the following is the last
outcome of Auditing a project?

1 Mitigation plan of a risk depends
upon

1 Stakeholders who are managed
closely usually have
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1 Which of the following Is the part CO1

of Project Charter Template?

1 New, Open and Closed Status
parameters indicate towards
which of the following logs?

1 Calculating Variance during
Lesson learning phase of Project
Management depends upon

1 Project Budget includes

1 Which of the following is true
about "Microsoft Project"?

1 Managing data over separate
systems- MS Excel and MS
Project is

1 Which of the following may
impact Project bidding
submission?

1 Which stakeholder signoff and
approves a Project Charter
Template?

1 Project bidding offers a clearer
view on the planned
flow.

1 Microsoft Project Tool is able to
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1 The demanding Beneficiary co1
needs for Project Management
require a continuous process for
personnel training in using tools
and applying best industry’s
practicBles in planning and
controlling the project work.

1 Project performance dimensions CO2
include

1 Which of the following life path  CO2
show "Quick momentum" while
projecting %completion of a
project?

1 Dummy activity consumes co1

1 In network analysis, Float has co1
how many types?

1 Stakeholders are directly co1
involvedin __ and indirectly
involved in among
project stages.

1 Gantt is needed while a CO2
project

1 A+B = Crepresents Co2

1 When more than one C0o2

applications get deleted from the
operating system of a mobile
phone, this represents

1 Activity duration is co1
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1 Which of the following COo2
statements is most appropriately
true about CPM?

1 Dummy activity is represented by CO1
?

1 If a second activity can be started CO1
after part of a first activity is
complete, a dummy activity is
inserted.

1 Dummy is inserted to connected CO1
the dangling activities

1 The longest-duration path col
through the network is known as
critical path.

1 Critical Path is the minimum co1
time required to complete the
project

1 Activities that lie on the critical CO1
path can be delayed without
delaying the completion time for
the whole project

1 When arrows are drawn from co1
right to left, resulting into error
in relationship. This is called
______error.

1 Which of the following is most ~ CO2
appropriately true about
"Redundancy"?
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1 Project management is

1 Positions for which you may get
hired after studying this course
include
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